16.
The numbers of automobiles, televisions, and pizzas that are produced at any point in time represent an answer to the basic economic question of

A.
how items are produced.

B.
how consumers make choices about which goods are produced and in what quantities.

C.
who these items are produced for.

D.
who makes economic decisions.

E.
which processes guide economic decisions.

17.
The basic reason why choices matter is that

A.
choice results in scarcity.

B.
the resources to satisfy the wants of all individuals are limited.

C.
individuals are selfish and behave in their self-interest.

D.
government has only a limited impact in a market economy.

E.
an economy relies on a market to resolve the problems of scarcity.

41.
Market systems are known for their efficient production of wealth; they are, however, frequently criticized when it comes to determining

A.
what goods and services are produced.

B.
how goods and services are produced.

C.
an equitable distribution of the goods and services produced.

D.
for whom goods and services are produced.

E.
the proper allocation for economic efficiency.

53.
Microeconomics is that branch of economics that focuses primarily on

A.
inflation and unemployment.

B.
behavior in highly aggregate markets.

C.
economic growth in less developed countries.

D.
the behavior of firms, households, and individuals.

E.
international trade.

59.
On which of the following does macroeconomics focus?

A.
the relationship between the rate of unemployment and the rate of price inflation

B.
the effect of a failure of the tobacco crop in the United States on the world price of tobacco

C.
the effect of the minimum wage on unemployment among young workers

D.
the impact of the affirmative action programs on the wage rate in the teaching profession

E.
a change in the level of output in the automobile industry

6.
In their study of rational consumers, economists focus on

A.
what determines the goals and desires of consumers.

B.
why different consumers have different preferences.

C.
how consumers' preferences affect the choices consumers make.

D.
why consumers' preferences change over time.

E.
how consumers' preferences are formulated.

13.
When markets are well described by the competitive markets, the economy is efficient, which means that

A.
it is possible to produce more of one good without producing less of another.

B.
everyone receives the same income.

C.
there is no scarcity.

D.
some resources remain unemployed.

E.
it is not possible to make anyone better off without making someone else worse off.

24.
A market system allocates resources through

A.
queues.

B.
prices.

C.
coupons.

D.
chance.

E.
a lottery.

Use the following information to answer questions 36-41.
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   Figure 2.2

36.
Figure 2.2 shows Christopher's budget constraint. What is the price of attending a movie if Christopher's income is $30?

A.
$1.50

B.
$2

C.
$5

D.
$15

E.
$20

37.
Figure 2.2 shows Christopher's budget constraint. What is the price of attending a concert if Christopher's income is $30?

A.
$20

B.
$15

C.
$5

D.
$2

E.
$1.50

38.
Figure 2.2 shows Christopher's budget constraint. Which of the following statements about the budget constraint is correct?

A.
It is impossible to determine whether attending a movie is more or less expensive than attending a concert.

B.
Attending a movie is more expensive than attending a concert.

C.
It costs Christopher the same price to attend a movie as it does to attend a concert.

D.
Attending a concert is more expensive than attending a movie.

E.
Attending a concert is twice as expensive as attending a movie.

39.
Figure 2.2 shows Christopher's budget constraint. Which of the following statements about the budget constraint is correct?

A.
Points A and B are attainable; points X and Z are unattainable.

B.
Point X is attainable; points A, B, and Z are unattainable.

C.
Points A, B, and X are unattainable; point Z is attainable.

D.
Points A, B, and Z are attainable; point X is unattainable.

E.
Points A, B, X, and Z are all attainable.

40.
Figure 2.2 shows Christopher's budget constraint. If Christopher moves from point A to point B, this represents

A.
an increase in concertgoing, at the expense of moviegoing

B.
an increase in moviegoing, at the expense of concertgoing

C.
an increase in both moviegoing and concertgoing

D.
a decline in both moviegoing and concertgoing

E.
a movement from an attainable point to an unattainable point

41.
Figure 2.2 shows Christopher's budget constraint. If Christopher is currently consuming the combination of movies and concerts shown by point X, he

A.
can only increase his concertgoing by reducing his moviegoing.

B.
can only increase his moviegoing by reducing his concertgoing.

C.
can increase his moviegoing and concertgoing.

D.
is spending all he can afford on his movie- and concertgoing.

E.
cannot afford to buy any popcorn.

2.
In a voluntary exchange,

A.
all parties expect to gain from the exchange.

B.
at least one party expects to gain from the exchange.

C.
all parties will feel that they paid or received a fair price.

D.
wealthy individuals expect to gain from the exchange.

E.
the gains will be equally divided among the parties.

6.
Which of the following is a common objection to the economists' claim that voluntary exchanges are mutually beneficial?

A.
Voluntary exchanges require equal power in bargaining.

B.
Mutually beneficial trade requires that individuals have different preferences.

C.
One party takes advantage of the other using inside information.

D.
Exchanges will only occur when all goods are scarce.

E.
Mutually beneficial trade requires that individuals own different amounts of the goods.

14.
One of the principle advantages of trade is that it allows countries to

A.
specialize according to comparative advantages.

B.
dispose of excess supplies of goods that they do not want.

C.
share equally in the potential gains from trade.

D.
leave the exchange feeling that they have been treated fairly.

E.
specialize according to absolute advantage.

17.
A country has the absolute advantage in the production of a good X when it

A.
can produce more X with a given amount of resources than another country.

B.
can produce X at a lower relative cost than another country.

C.
also has a comparative advantage in the production of X.

D.
is richer and has more resources than another country.

E.
can charge a higher price for X.

20.
A country has a comparative advantage in the production of good X when it

A.
can produce more X with a given amount of resources than another country.

B.
also has an absolute advantage in the production of X.

C.
can produce X at a lower relative cost than can another country.

D.
is richer and has more resources than another country.

E.
can charge a higher price for X.

5.
By the term "demand curve," economists mean the curve describing the relationship between price and quantity demanded. The focus on price means that

A.
economists believe price is the only factor that influences quantity demanded.

B.
price is the only factor that influences quantity demanded.

C.
economists are assuming that other influences on quantity demanded are constant so that the effect of price can be isolated.

D.
the model's predictive power is of little value.

E.
economists are inappropriately overlooking other influences on quantity demanded.

6.
The individual consumer's demand curve for a good describes the

A.
quantity of the good demanded by the consumer at each level of the consumer's income.

B.
quantity of the good demanded by the consumer at each price.

C.
average quantity of the good demanded by all consumers.

D.
amount of income needed by the consumer to buy different quantities of the good.

E.
quantity of the good demanded by all consumers at each price.

7.
Along an individual demand curve, an increase in quantity demanded occurs when

A.
price has increased.

B.
price has declined.

C.
the consumer's income has fallen.

D.
the consumer's income has increased.

E.
the individual is induced to reduce consumption by an increase in price.

14.
The market demand curve is downward sloping because
  I. each individual's demand curve is downward sloping.
 II. as the price falls, new consumers enter the market.
 Which of the following is correct?

A.
Only I applies.

B.
Only II applies.

C.
Both I and II apply.

D.
Neither I nor II applies.

E.
Either I or II can apply, but not simultaneously.

18.
An increase in consumers' income will normally cause

A.
a movement along the demand curve such that quantity demanded declines.

B.
the demand curve to shift to the left.

C.
an individual to decrease consumption of any goods she purchases.

D.
the demand curve to shift to the right.

E.
a movement along the demand curve such that quantity demanded increases.

24.
A reduction in the price of a complement will normally cause

A.
a movement along the demand curve such that quantity demanded declines.

B.
the demand curve to shift to the left.

C.
an individual to decrease consumption of any goods she purchases.

D.
the demand curve to shift to the right.

E.
a movement along the demand curve such that quantity demanded increases.

Use the following information to answer questions 35-37.
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   Figure 4.2


35.
Figure 4.2 shows two demand curves for the same product. If the demand curve for the product was D1 and is now D2, this shift could be the result of

A.
an increase in the price of a substitute for the product.

B.
a reduction in the price of the product.

C.
an increase in the price of a complement for the product.

D.
a reduction in consumers' incomes.

E.
a reduction in the price of a substitute for the product.

36.
Figure 4.2 shows two demand curves for the same product. If the demand curve for the product was D1 and is now D2, this shift could be the result of

A.
a reduction in the price of the product.

B.
an increase in the price of a complement for the product.

C.
a reduction in the price of a substitute for the product.

D.
a reduction in the price of a complement for the product.

E.
a reduction in consumers' incomes.

37.
Figure 4.2 shows two demand curves for the same product. If the demand curve for the product was D1 and is now D2, this shift could be the result of

A.
an increase in the price of a complement for the product.

B.
a reduction in the price of a product.

C.
an increase in consumers' incomes.

D.
a decline in consumers' incomes.

E.
a reduction in the price of a substitute for the product.

8.
If a firm raises the price of its product and finds that total revenue has fallen, this indicates that

A.
demand for the product is price-inelastic.

B.
demand for the product has unit price elasticity.

C.
the demand curve for the product is downward sloping.

D.
the price elasticity is greater than one.

E.
demand for the product is price-elastic.

21.
If the price elasticity of demand for a product is 2, a price ____ will result in ____ in revenue.

A.
reduction; an increase

B.
reduction; a reduction

C.
increase; no change

D.
increase; an increase

E.
reduction; no change

75.
If supply for a product is perfectly price-elastic, the supply curve is

A.
upward sloping.

B.
horizontal.

C.
vertical.

D.
undefined.

E.
downward sloping.

2.
The individual's opportunity set is defined by the

A.
production possibilities curve.

B.
demand curve.

C.
supply curve.

D.
indifference curve.

E.
budget constraint.

3.
The line that represents the combination of goods Sue can purchase by spending all her income on the goods is called her

A.
budget constraint.

B.
demand curve.

C.
indifference curve.

D.
supply curve.

E.
production possibilities curve.

Use the following information to answer questions 84-86.
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Figure 6.4

84.
Figure 6.4 shows an increase in income for Bill, who buys only meat and potatoes. As income increases, the consumption of meat ____ and the consumption of potatoes ____.

A.
decreases; increases

B.
increases; decreases

C.
increases; increases

D.
decreases; decreases

E.
increases; is unchanged

85.
Figure 6.4 shows an increase in income for Bill, who buys only meat and potatoes. Which of the following is correct?

A.
The income elasticity of demand for meat is positive; the income elasticity of demand for potatoes is negative.

B.
The income elasticity of demand for meat is negative; the income elasticity of demand for potatoes is positive.

C.
The income elasticity of demand for meat and the income elasticity of demand for potatoes are both positive.

D.
The income elasticity of demand for meat and the income elasticity of demand for potatoes are both negative.

E.
Whether either the income elasticity of demand for meat or the income elasticity of demand for potatoes is negative is indeterminate.

86.
Figure 6.4 shows an increase in income for Bill, who buys only meat and potatoes. Which of the following is correct?

A.
Meat is an inferior good, potatoes are a normal good.

B.
Meat and potatoes are both normal goods.

C.
Meat and potatoes are both inferior goods.

D.
Whether meat and potatoes are inferior goods is indeterminate.

E.
Meat is a normal good, potatoes are an inferior good.

55.
The change in total cost when an additional unit of output is produced is the

A.
overhead cost.

B.
average cost.

C.
average variable cost.

D.
average fixed cost.

E.
marginal cost.

11.
For a firm in a competitive market,

A.
marginal revenue equals price.

B.
marginal revenue equals total revenue.

C.
marginal revenue minus price is positive and constant.

D.
marginal revenue equals total revenue.

E.
average revenue falls with output.

22.
Pareto-efficient resource allocations are defined as those allocations

A.
where total output is maximized.

B.
where nobody can be made better off without making someone else worse off.

C.
where marginal utility is maximized.

D.
where consumers get everything they desire.

E.
that lead to an equitable distribution of income.

26.
There will be no reason for additional trading among individuals when the economy has attained

A.
exchange efficiency.

B.
production efficiency.

C.
utility efficiency.

D.
distribution efficiency.

E.
product-mix efficiency.

46.
Free-market economists believe that

A.
government intervention should focus on distributional issues.

B.
there are significant discrepancies between the competitive model and reality.

C.
competition is limited and markets are efficient.

D.
competition is limited and markets may produce inefficient outcomes.

E.
consumers are imperfectly informed.

47.
Imperfect-market economists would generally argue that the competitive model

A.
assumes that consumers are imperfectly informed.

B.
has limited applicability to real-world situations.

C.
provides a good description of most markets most of the time.

D.
has widespread applicability to real-world situations.

E.
involves too much government intervention.

5.
The perfectly competitive firm has no control over its

A.
output.

B.
costs.

C.
price.

D.
use of inputs.

E.
production technology.

6.
The market structure in which there is a single seller of a product with no good substitutes is called

A.
monopolistic competition.

B.
monopoly.

C.
perfect competition.

D.
oligopoly.

E.
oligopolistic competition.

9.
Both a perfectly competitive firm and a monopolist choose output to maximize profits where

A.
marginal cost equals price.

B.
total revenue equals total cost.

C.
marginal cost equals marginal revenue.

D.
average cost equals price.

E.
marginal revenue equals price.
1.
All except one of the following are considered drawbacks of monopoly. Which is not?

A.
the desire to maximize profit

B.
the restriction of output

C.
the managerial slack

D.
a lack of emphasis on research and development

E.
rent-seeking behavior

5.
Other things equal, those who most want to purchase insurance are those who are most likely to need it. This is an example of

A.
adverse selection.

B.
diminishing returns.

C.
the free-rider problem.

D.
natural selection.

E.
moral hazard.

17.
If the percentage of income an individual pays in income tax increases as income increases, the tax system

A.
is regressive.

B.
is progressive.

C.
satisfies horizontal equity.

D.
does not satisfy vertical equity.

E.
is proportional.

7.
In a game theoretical setting, the strategy that performs the best against whatever the other player does is called the

A.
best strategy.

B.
most probable strategy.

C.
preferred strategy.

D.
dominant strategy.

E.
superior strategy.

